
PAGE 1

PLEASE KEEP THE ORIGINAL PACKAGING UNTIL THE ITEM IS FULLY ASSEMBLED AND IN

PLACE. IN THE UNLIKELY EVENT THAT YOU NEED TO RETURN YOUR PRODUCT, IT MUST

BE RETURNED IN ITS ORIGINAL PACKAGING TO AVOID FURTHER DAMAGE. FAILURE TO

COMPLY TO THESE PROCEDURES, NO RETURN'S WILL BE ACCEPTED.

BR990196

ASSEMBLY INSTRUCTIONS

TIMBER ART DESIGN UK



PAGE 2



PAGE 3

THE USE OF POWER TOOLS TO ASSEMBLE THIS PRODUCT WILL INVALIDATE

ANY CLAIM AND MAY DAMAGE THIS PRODUCT MAKING IT UNSAFE.

1

2

3

4

4

7

8

6

9

10

13

12

5

11

14

16

16

15

17

18

1916

16

20

18

19

16

16

20

18

19

16

16

20

14

16

16

15

17

14

16

16

15

17

14

16

16

15

17

21

21

21



WOOD DOWEL M8 x 25MM 34

56

A

E

G

D

H

I

1

2

3

4

5

NO. PARTS QTY

NO. DESCRIPTION QTY

X X 25

X X 15

X X

X X 15

X X 15

1 PC

2 PCS

1 PC

PAGE 4

THE USE OF POWER TOOLS TO ASSEMBLE THIS PRODUCT WILL INVALIDATE

ANY CLAIM AND MAY DAMAGE THIS PRODUCT MAKING IT UNSAFE.

CAM CAP

CAM BOLT

CAM NUT

15

F

HANDLE SCREW M4 x 35MM

K

HANDLE HALFMOON 88407-64MM

B

C

J ALLEY KEY M4

3501120

325 795

324 403

1 PC325 795

1 PC

324 250

29

29

CB SCREW M4 x 38MM

14

 8

PVC NAIL WITH PIN 5/8

L

 4 4

CSK CAP WOOD M6 x 60MM

6
X X 15 1 PC 50 984

7

8

X X 15

X X 15

1 PC

1 PC 50 795

 50 795

9
X X 15 2 PCS 68 986

11

12

X X 15

X X 15

1 PC

1 PC 50 984

 68 986

13
X X 15 1 PC110 986

10
X X 15 1 PC 68 986

14 X X 15 4 PCS201 487

16

17

X X 15

X X 2.5

14 PCS

4 PCS440 278

130 300

18
X X 15 3 PCS201 323

15
X X 15 8 PCS130 430

19
X X 15 6 PCS130 263

20
X X 2.5 3 PCS273 278

L

R

NAIL 5/8

L

R

29

M

N

14

14

DRAWER SLIDE 12''

DRAWER SLIDE 12''

CB SCREW M3.5 X 16MM

 1

70

 7

21
X X 2.5 3 PCS338 696

62



STEP 1

STEP 2

WOOD DOWEL M8 x 25MM 34A

CAM BOLT 29
C

PAGE 5

THE USE OF POWER TOOLS TO ASSEMBLE THIS PRODUCT WILL INVALIDATE

ANY CLAIM AND MAY DAMAGE THIS PRODUCT MAKING IT UNSAFE.

2 3

2

4

4

5

6

1

7

8

REAR

VIEW

BOTTOM

  VIEW

A

C



STEP 3

STEP 4

CB SCREW M4 X 38MM 56F

PAGE 6

THE USE OF POWER TOOLS TO ASSEMBLE THIS PRODUCT WILL INVALIDATE

ANY CLAIM AND MAY DAMAGE THIS PRODUCT MAKING IT UNSAFE.

42L

42E CB SCREW M3.5 X 16MM

F

L

NAIL 5/8

X4

X3

X4

X3

E

BOTTOM

VIEW

L

R

14M DRAWER SLIDE 12''

14

16

16

16

16

16

16

15

17

20

18

19



STEP 5

PAGE 7

THE USE OF POWER TOOLS TO ASSEMBLE THIS PRODUCT WILL INVALIDATE

ANY CLAIM AND MAY DAMAGE THIS PRODUCT MAKING IT UNSAFE.

STEP 6

CB SCREW M3.5 x 16MM 28E

DRAWER SLIDE 12

L

R

14N

 7H

I 14

HANDLE HALFMOON 88407-64MM

HANDLE SCREW M4 X 35MM

X4

X3

IH

R VIEWL VIEW

X2

E

14

18

2

3

4
4

5

5

R VIEW L VIEW

N

R VIEW

L VIEW



STEP 7

PAGE 8

THE USE OF POWER TOOLS TO ASSEMBLE THIS PRODUCT WILL INVALIDATE

ANY CLAIM AND MAY DAMAGE THIS PRODUCT MAKING IT UNSAFE.

STEP 8

CSK CAP WOOD M6 X 60MM  4G

 6

R VIEW L VIEW

CAM NUTB

CAM CAP  6D

ALLEY KEY M4  1J

G

J

ALLEY KEY M4  1J

B

D

J

B

C

A

B

32

4

4

9

9

BOTTOM VIEW



STEP 9

PAGE 9

THE USE OF POWER TOOLS TO ASSEMBLE THIS PRODUCT WILL INVALIDATE

ANY CLAIM AND MAY DAMAGE THIS PRODUCT MAKING IT UNSAFE.

STEP 10

CSK CAP WOOD M6 X 60MM  4G

ALLEY KEY M4  1J

 5
CAM NUTB

CAM CAP  5D

ALLEY KEY M4  1J

B

D

J

B

C

A

B

9

9

10

11

9

9

10

11

13

2

BOTTOM VIEW

BOTTOM VIEW

G

J



STEP 11

PAGE 10

THE USE OF POWER TOOLS TO ASSEMBLE THIS PRODUCT WILL INVALIDATE

ANY CLAIM AND MAY DAMAGE THIS PRODUCT MAKING IT UNSAFE.

STEP 12

 3
CAM NUTB

CAM CAP  3D

ALLEY KEY M4  1J

 7CAM NUTB

CAM CAP  7D

ALLEY KEY M4  1J

PVC NAIL WITH PIN 5/8  4K

B

D

J

B

C

A

B

B

D

J

B

C

A

B

3

9

9

9

11

13

3

2

1

6

BOTTOM VIEW

BOTTOM VIEW

K



STEP 13

PAGE 11

THE USE OF POWER TOOLS TO ASSEMBLE THIS PRODUCT WILL INVALIDATE

ANY CLAIM AND MAY DAMAGE THIS PRODUCT MAKING IT UNSAFE.

STEP 14

 8CAM NUTB

CAM CAP  8D

ALLEY KEY M4  1J

1

3

2

4

4

21

21

21

2

1

L

REAR

VIEW

20L NAIL 5/8

B

D

J

B

C

A

B



STEP 15

PAGE 12

THE USE OF POWER TOOLS TO ASSEMBLE THIS PRODUCT WILL INVALIDATE

ANY CLAIM AND MAY DAMAGE THIS PRODUCT MAKING IT UNSAFE.

COMPLETED


